| dE/dx estimator 1 | | dE/dx estimator 2 |

' - - - - - - Entries 42 - - - - - - - Entries 42

0. 45 ----tmmemeteneeens - R sl Mean 3 C : : = : : ¢ [ Mean 2.792

C : : : : | Std Dev 0.5516 0.45F i i pree freeenive| std Dev 0.4682
041 o RS SRR R e e Boeeeee ] - S : : : : : :

P i i i [Enties 88 0.4 iemeiv e S R O S 88

0 35_ ______ o — . Mean 3.182 = : : : : ¢ [ Mean 2.932

: : ; § ; i | Std Dev 0.3192 0.35E - ieeeioe s e i......;...| Std Dev 0.2576

0.3t T s freoeeito Entries 88 0.3 Entries 88
C : : : : : Mean 3.182 ) : : : : : Mean 2.932
0.25F - : N A e t.eeeeni...| Std Dev 0.3192 : : : : : [ Std Dev 0.2576
o S R N R 025t T

0.2 : : 1 i......i|Entries 88 o A i | Entries 88
: : : : : i | Mean 3.182 0.2 if oo feesee peseeeeteo Mean 2.932

: 5 . : : i | std Dev 0.3192 oo 5 : : : ;| Std Dev 0.2576

O A £ I S S S atttes St Bt 0B horbonfb oo b ]
: : : : : : Entries 88 : : : : : : Entries 88

. : I tereeaoi...| Mean 3.182 Mean 2.932

01 : : : : : : Std Dev 0.3192 01 Std Dev 0.2576

i | O S

Ratio

.....................................................................

o
o1
=

M S
—p——
||||||

O

1 2 3 4 5 6 7 8 9 10 1 2 3 4 5 6 7 8 9 10
dE/dx, harm?2 dE/dx, trunc40

RFE_SOMQCD
KFit Soﬁ%GD-updated

o

Vi
Fit”SoftQCD-updated-newPLDNN

C
m
mkFit”.

m&Flt SoftQCD-updated-TTharDNN
m

<

“mkFit—SoftQCD-updated-TTharDNN25
=74 n

CToeS

CTIaTeS 42
Mean 0.9762
Std Dev 0.9633

R N TR T S L Mean 14.33
O.14F i [t gy pey 4,965

i : : : : : Entries 88 . : : : : : Entries 88
0.12¢ S || AR P P - 0.35 : ; ; ; ;

Mean 14.39 Mean 0.9659
: : : : : i [ Std Dev 4.761 Std Dev 1.112

R [ S AN SN 0.3 R
0 : : : : : . | Entries 88
i : : : : i | Mean 14.39
O 08 - R T U 1.| Std Dev 4.761

i

Entries 88
Mean 0.9659
Std Dev 1.112

------- Beerereete b Enitries 88
: : : : i | Mean 0.9659
Std Dev 1.112

Entries . 88 0.2

0.061-ff- (M} .

Std Dev 4761

0.15

Entries 88
Mean 0.9659
Std Dev 1.112

0.04 (|-t |fitkf i {Eves B8
: ; A : : : | Mean 14.39 0.1
Std Dev 4.761

LSl L I s I s I

0.05¢

o
T T
i

....................................................................

Ratio
=
..m oo
Ratio
=

L e

0.8k

0 30 40 50 60 70 80 10 20 30 40 50 60 70 80
dE/dx number of measurements dE/dx number of measurements with saturation




	Contents
	Page 1


